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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the

detailed instructions given therein.

MS: T YT S At (200) 37hi I € U THH AR (4) TS ¢ | AT i ITH GHIR U9 o 3T
3T 53 T foreget Feenl o SR ST 8 |
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Note :
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SECTION -1
e -1

This section consists of two essay type questions of twenty (20) marks each, to be

answered in about five hundred (500) words each. (2 x 20 = 40 marks)
T We | SQ-ali 37 & T FarTcis U9 & | Uedish 1 ST o Ui 4t (500) s A
SUMAT & | (2 % 20 = 40 3iF)

What reforms would you suggest in Indian Labour Legislations to-day in the context
of ongoing globalization in India ?
3TTST ATSINRROT o FR H YR o S HIAT H ohg FehR o UIReT o o 379 T 311 2

OR / Jtgar
It is said that, if a management considers unions as a problem it avoids them and if it
considers them as a part of the solution it consults them and seeks their co-operation.
What can management and unions do together or independently to ensure fairness and
build trust ?
T el ST € Toh ST Jame AoqX 9o i Ush YU o ® § ST € o ST SRR
& | STET VSR ToigY Wl okl TEET GHTH 1 Ush WM GHEIT € a8l Weigl 9 % 91 foaar
TRt X & T SeT Wea ol & | e 3iR #ieh 66 U i el oY O T &9 9
T Y Tl & ST 3Tad SHeeR Ul &l 3R Th-38R o ol Torvem st STl ST 9eh |

J-5510
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“The purpose of HR is to create an organization that ensures employee’s pride to be
members in the organization, shareholders confidence to invest in the organization
and customer’s delight in the products and services of the organization™ — Justify the
statement and explain how HR strategy can be aligned with corporate strategy in
order to achieve the aforesaid purpose.

“TF R I LT & — Teh VA T Sl WO FHIAT STel FHART FH AT TR hi 1l FHR
2 | T8t YRR Bieey favary & e 4T et S e 81 SR ek 3eTs T Wl ST TTeeh-
TERE & 1”7 0 o ! 4 I gU I I o U TR Rhest it o TR dmie iestt
T ST T Hhell & 7

OR / et
Social dialogue in India currently is based on social exclusion. How can the social
base of social dialogue be widened ?

3T YR H QHISTeR HolTg WA STEShIoT 0 STTEIRA & | WA GaTs o WA SR
i for TR forget femaT T ket & 2
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Note :

e :

J-5510

SECTION -11
g -11
This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the three

questions from it. Each question carries fifteen (15) marks and is to be answered in
about three hundred (300) words. (3 x 15 = 45 marks)

34 TS H U Uow e / fouesar ¥ dF (3) UsH € | el i dhaol U U
TS/ RIS ] AT SN o AT TReAT 1 SR a1 € | Heieh TR Ui (15) i b &
Wwwﬁwﬁ@oom&ﬁﬁaﬁfw%l (3 x 15 = 45 3iF)

Elective -1
famea -1
What do you think will be the future of Industrial Relations in India ?
3T foraR & TR H SifiTeh qeawe o1 R i g ?

What do you mean by Labowr Management Co-operation 7 How can this be
achieved ?

-G eI § 31T 47 THSTA & 2 SHeh! vl HIohR foh a1 ST Gehel € 2

Discuss the provisions of Code of Discipline. Are they effective ?
TR TTeeT o WIETHTT <l =l hY | T o TTaRier & 2
OR / Jgan
Elective — I1
famen - 11

What are the provisions of voluntary retirement scheme adopted in Indian Public
Sector ?

IR H UfeeTeh W ST | o] Ufessh Jar-Taf aIsH1 o TIaem s == Y |

What are the challenges of International HRM ? How training can overcome these
challenges ?

STRIE UF 3R UH & & H HiA-sh G Al & 7 Wt g1 3% el ek X fohal ST
THhATE ?

“Organizational Development is about unleashing human spirit and human
capabilities at the workplace.” Discuss the future of OD in light of this statement.

“TTIS TRt (3T ) T T 329 & Y T W IS U q4T A 70T @1 17 39
I o A H T gU 31 2 o wforsg it =9 A |
OR / atgan
Elective — 111
famew — 111
“Indian Labour Legislations are progressive but ineffective.” — Comment.

“RA T 99 I TN o €, TR TSR € 17 37 A W femoft & |

What are the reasons for implementation of a very small number of ILLO conventions
and recommendations by the Indian Government ? How does it affect ILO’s influence
on the growth of labour legislations in India ?

YR ENT SE.UA.3. o Fgd A SAaea) a1 Fawmet i an] H & 4 HH § HROT
SR FFAT ST € 2 mwmwﬁ ST SHTAT o ToehT IR ST 919 UeT € 7

10



3. There is an urgent need to examine the working of State and Central Implfc:]mentation
machinery in India. Examine the suggestions made by the 1** and 2"° National
Commission on Labour in this regard.

IRA T 31T S AT bl ey AT T HIAI ORI ol 3TETT AT I8l STevdh & 7
T 139 TR § ey e fgdie IET 9 TR o Gerel St =l Hhifed |
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SECTION - III

g - III
Note : This section contains nine {9) questions of ten {(10) marks, each to be answered in
about ﬁfty (50) words. . . (9%x10=90 Marks)
A : TE TS H TH-29 (10-10) 37ehi o AY (9) YT & | Ucieh U9 1 ITR AT G (50) i H
UMRTTE | (9 x 10 = 90 37F)
6. ‘What are the essential features of an effecﬁive plan ?
Teh TG TSI ol HI-sh A forgisamd € 2
7. What is manpower planning 7 What are its steps ?

He- ek ST T € 2 36eh Shid-shi § =0T & 2

J-5510 17 P.T.O.



8. Explain Edgar Schein’s career planning model.

TSR 9 §RT 73 70 “Sh{a T Higet ol <l e |

9. Differentiate between management and leadership.
T AT e 9 Sre ST Al |
10. Discuss Dunlop’s industrial relations system.

TTTT S0 <1 TS SANTTeh e YOTTedt bl =rel] . |

J-5510 18



11. What are the types of Trade Unions in India ?
IR H HSIGR Gl o T9=-19F UehR T € 2

12. Distinguish between conventions and recommendations of I1L.O.

3TE.UA. 3. & AT g FHmin & e =R sa |

J-5510 19 P.T.O.



13. Explain any two theories of Labour Welfare.

ST SFeToT % Toheel QT [Tl oht =l b |

14. What are the determinants of labour force participation rate in a country ?

TRl oft <1 &7 1ok TEHINTT-8 T FETRA i ATel hid-ohi § el Bit € 7

J-5510 20



Note :

Qe

J-5510

SECTION - IV
gs -1V
This section contains five (5) questions of five (5) marks each based on the following

passage. Each question should be answered in about thirty (30) words.
(5 x 5 = 25 marks)

=4 T | Fefaied uites 1 menia uier (5) U99 € | Uedsh U9 o1 ST AT i (30)
Vs H SR § | Ucdeh Ue Ui (5) 3R H1E | (5 x 5 = 25 3®)

The problem of industrial peace is common to almost all the industrially developed
countries of the world and even since industrialisation began, each country is making
efforts to find out its solution. The ways and methods in solving this problem differ
from country to country depending upon its economic, social and political
environment. Still the problem has not been solved completely. Industrial disputes
still arise and will continue to arise in future also. Maintenance of satisfactory
industrial relations, therefore, forms an important plank in the labour policy of every
developed or developing country. It is almost a precondition for every country’s
progress. Thus, the major prerequisite for industrial progress is the prevalence of
industrial peace — a suitable climate in which the industries can thrive. Although,
industrial peace is one of the familiar terms in labour terminology and its concept is
clear, yet its definition is somewhat difficult. Industrial peace broadly implies the
absence of industrial unrest or the existence of a harmonious relationship or
co-operation between labour and capital in industry. Industrial unrest is generally the
result of worker’s discontent in some form or the another. The factors which give rise
to such discontent among the workers are mainly economic and partly also social,
psychological and even political in character. The industrial unrest is said to have
taken an organized form when the work-people make a common cause of their
grievances against the employers and may be manifested through strike, organized
demonstrations, picketing etc. Industrial peace, however, is not merely a negative
concept signifying the absence of industrial unrest — the reconciling of hostile forces
in order to avoid ruinous strife, but it also signifies active presence of harmonious and
good industrial relations generating amity and goodwill between the parties in an
industry — a condition which is both the cause and effect of fruitful co-operation.
Obviously, therefore, industrial peace in the full and positive sense of the term is not
the same as absence of industrial tension or unrest; it 1s indicative of the state of
relationship between organized bodies of workers and employers/managements where
a positive, highly purposeful, problem solving and cordial approach to the various
human situations in the industry is developed.

fava & sfeifiTer &9 9 faeriad wr: |eft 391 H SeifiTes wifd ot §oe U 99 ¢, 791 519 9§
SETIRROT TRET g7 Al | Uedeh I T FHIHH €@+ o o0 JARRd ¢ | Haitad 397 &
3T, WA T AR UReeT & STER W [af= 39 | 39 THm o FHrE 8 S0
S Aol dRies ae fafedt M-y € 1 qenfa 39 9w &1 9eee Qo S e U g |
ST foramg eneft off 3o & dem ufosy § off 330 Wi | U {aehiae qe faehraeier 397 s
s-Afq & FAIE 3T Yot Teh Tewoul Helsh & | Ucish <91 ol Wid & felu ¢ Uk
TETT-FT € | 39 WK SR Mifey — ST 32 o et-er o folt Ueh Fyfed arameron
— T BT ST T o o Ueh Tqa gaiuet & | e, s-3reraretl 3 SAeifien wifd 0
fafed U8 & qAT TR HhodAT T €, TAM T8 URIIT FET fhiad e & | sieniften
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15.

STRTITT T STHTE ST2IaT AIHTEYUT Hefel ol JURATT Toram S/ T Veie & o Tedn SHrelifimeh
It | HiZ AR W 3Taied & | T STRniieh Teiia foddt =1 fohdt &0 o sifhept o e
Y 3T BT € | SR o S 39 Wb o 3T %l SedwT il aTel e &7 &9 § 3Tah
T AR T W TGS qAT FeT b ok AT Fehiel o & & | UHT el ST & foh
3TN STMifa e Ueh Wiifed ¥ URUT & ofcll & STd SiHeh 370+ et & fasg ot
TOTeRTAT 1 Uk TTHfeeh WIS ST oIt & T 98 BTl |iad UG, &A1 371 & &9 | yehe
BT & | Ty 3TN i Ueh TehRIcHeh YehoddT HIET el & i 3T=NfiTes 379 o 379 —
7] foreseht Tas @ s % ot foRielt ifekaii bt Seher ST — ol rerd et & Sfoeh 8
TreTEquT e 3T ST deiy it Qishar Suftefa = oft giad st &, ~ad e sam @ S
TETHRT o ST Tl U AT ST I & S el WednT o fold ShROT SR URemT S € |
3YeT: T, TYOUT LT HehRIeHeh 319 o SArefiveh it sh1 &1 o =&l & S 3frenfites awrer sreqen
9TiteT o o1Tel W =TT gl &; F SifHenl & Friad Fepr dor faeren / veue o o %
Ty i weh U Rt i St s & e e | fafery ame-Rafaat & ufq v 5o wlE
ST, FEET-FHT S T H=Iq0T SUTTH T ST0H H I ¢ |

What are the inclusive parts of industrial peace ?

ST St O 1 e & 2

16.

What are the exclusive parts of the industrial peace ?

Frenfites it o s GHTRd T2 & ?

J-5510
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17. What are the factors responsible for industrial unrest ?

AR AW & HRh e FT-F & ?

18. Why the definition of industrial peace is difficult ?
STEITTER T i AR AT FHic i & ?

19. What are the manifestations of industrial unrest ?

ArEnfires arerifd fore ®9 | yehe Bl & ?

J-5510 23 P.T.O.



J-5510

FOR OFFICE USE ONLY

Marks Obtained

Question
Number

Marks
Obtained

—_

Wl ||| ]|

,_.
o

[a—y
fa—y

—
o]

—
(O8]

N

—
n

,_.
=]

—
~J

=
GO

—
R=]

[
]

b
—

o]
o]

o]
[O%]

(W]
=

o]
Ln

[\]
@]

Total Marks Obtained (in Words) ..........ocoeeeeeeeiieeeeeeeee.

(IN FIZUIES) coeeeeee e

Signature & Name of the Coordimator ...l

(Evaluation)

24






